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1. Which one of the
countries shares the
land frontier with India?

following
longest

(A) China
(B) Nepal
(C) Pakistan

(D) Bangladesh

2. Which of the following is the
highest peak of South India?

(A) Anai Mudi
(B) Doda Betta
(C) Guru Shikhar

(D) Mahendragiri

3. Between which two mountain
ranges is the Valley of Kashmir
situated? '

(A) Ladakh and Zanskar
(B) Great Himalayas and Pir Panjal
(C) Great Himalayas and Zanskar

(D) Karakoram and Ladakh

P/G/1/2016/1-A

4.

5.

6.

Arrange the following Indian States
in descending order of their
geographical areas :

I. Rajasthan
II. Tamil Nadu
III. Maharashtra
IV. Karnataka
(A) 1, 11, I, IV
(B) I, I, Iv, I
(©) I, 111, IV, 1I

(D) 11, IV, 1, II

Which of the following islands of
India has volcanic origin?

(A) Barren
(B) Car Nicobar
(C) Little Nicobar

(D) North Andaman

Among the following, which one is
related to Blue Revolution in India?

{A) Floriculture
(B) Sericulture -
(C) Pisciculture

(D) Horticulture

[P.T.O.
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(C) fore R
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T () &7

(A) HITTeHTET

(B) =i (i)
(C) gw=ig

(D) FerraTey,
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11.

12.

13.

14,

AT St R i At g Wi
Torm Tow T st 27

(A) IreuTeE R
(B) S AR FR
(C) Teur wewm

(D) SEvs

TE TR ht IEE-HH (Sedie) ufone ¥
(A) Il UTGH H

(B) T TR H

(C) ari%mmam

(D) 91 AT A

aRa 0 T T witeRe’ i
EEEA RIS

(A) 1998

(B) 1972

(C) 2001

(D) 1985

‘Teie At whaeer frafafes # @
foFa T~ ¥ Hafta 37

(A) ITrETS |

(B) et wew

(C) F

(D) dfterTg
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7. The boundary line between India 11. The power plant at Manikaran,
and Pakistan is an example of based on geothermal energy, is

located in the State of
(A) superimposed boundary

(A) Arunachal Pradesh
(B) antecedent boundary

B) J d Kashmi
(C) relict boundary (B) Jammu an ashmir

i Prad
(D) subsequent boundary (C) Himachal Pradesh

(D) Uttarakhand

8. Which of the following coastal areas
of India was .affected by ‘Hudhud 12.

Badlands of Madhya Pradesh are
Cyclone™

the resuit of

(A) Andhra Pradesh coast (A) gully erosion

(B) Kerala ‘coast (B) sheet erosion

(C) Chennai coast (C) overgrazing

(D) Bengal coast (D) wind erosion

9. Which of the following water

reservoirs is built on Chambal 13. When was the ‘Central Ganga

Authority’ established in India?

River?
(A) Nagarjuna Sagar (A} 1998
(B} Rana Pratap Sagar (B) 1972
(C) Vindhya Sagar (C) 2001
(D} Rihand (D) 1985
10. ;}Vhich among the following has the 14. Which one of the following States is

largest shipyard in India? related with ‘Silent Valley Project’?
(A) Kolkata (A) Uttarakhand
(B} Cochin (B) Himachal Pradesh
{C) Mumbai (C) Kerala
(D) Vishakhapatnam ' (D} Tamil Nadu °

P/G/1/2016/1-A 5 [P.T.O.
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P/G/1/2016/1-A 6

https://www.freshersnow.com/previous-year-question-papers/


https://recruitmentindia.in/previous-papers/

15. Golden Quadrilateral Project of
India joins

{A) Delhi—Mumbai—Chennai
—Kolkata

(B} Delhi—Jhansi—Bengaluru
—Kanyakumari

(C) Srinagar—Delhi—Kanpur
' —Kolkata

(D) Porbandar—Bengaluru
s —Kolkata—Kanpur

16. Potato is a
(A) root
(B} fruit
(C) tuber

(D) bulb

17. Which gas is known as ‘noble gas™
(A) Hydrogen
(B) Oxygen
(C) Helium

(D) Carbon dioxide

P/G/1/2016/1-A

18.

19.

20.

The largest gland in human body is

(A) pancreas

(B} liver

(C) salivary gland

(D) adrenal gland

Mammals respire by

(A) gills

(B) trachea

(C) skin

(D) lungs

Vinegar is chemically known as

(A) acetic acid .

(B) butyric acid

(C) formic acid

(D) tartaric acid

[P.T.O.
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22,

23.

24.

A g i o 3w }?

A) &R

(B) H

(C) 3

(D) 7%

Prefifag § ¥ Fo-T wh I R T
7€ 7

(a) e

(B} Teetishair)

(ORLEIET

(D) de

R R § BE-9i/¥ 5T W@ gl
2/8a g7

(a)

(B) T

(C) et
(D) I aft

frefaflad §f ¥ SR-w T SR 4N
EH

(A) hRTE

‘(B)ﬁ@‘%ﬂﬂ

(C) WTeRfa® M9
(D) FFem

P/G/1/2016/1-A

25.

26.
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21. Myopia is the disorder of which
organ?

(A) Heart
(B) Ear
{C) Eye

(D) Kidney

22. Which one of the following is not
the unit of heat?

(A) calorie
(B) kilocalorie
(C) kilojoule

(D) watt

23. The liquid/liquids used in simple
barometer is/are

(A) water
(B) mercury
(C) alcohol

(D) All of the above

24. Which one of the following is not a
fossil fuel?

(A) Coal
(B) Petroleum
(C) Natural gas

(D) Uranium

P/G/1/2016/1-A

25.

26.

27,

28.

Which one of the following is
a renewable source of energy?

(A) Coal
(B) Nuclear energy -
(C) Petrol

(D) Solar energy

The formal and real beginning of -
Five-Year Plans is said to have
started in Madhya Pradesh from

{A) Third Five-Year Plan
(B) Second Five-Year Plan
(C) First Five-Year Plan

(D) 11th November, 1956

Starch is a

(A) monosaccharide
(B) disaccharide
(C) polysaccharide

(D) None of the above

Trophic level-I includes
(A) herbivorous animals
(B) carnivorous animals
(C} omnivorous animals

(D) green plants

[P.T. O.
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29. IR Haft B 32. fge! o1iEer % qoiar s &7

(A) g9 % i & (A) T UrEER
(B) @u%ﬁﬁsﬁwa (B) @omom
(©) 9% fover d (C) gt g
(D) T4 & AEH A (D) =R Wg
30. shsin fom 51 T 3 33, Breffed T ¥ Pt wor WM A
eifera T @7
) et () FrEm iR wfaw %
() et (B) Wi FeAfq ToEoT I
(©) T AT (C) VIRGH F=sid T
(D) B

(D) AR wdegu fqam

31. ¥ ¥ Frw waiawfeg #t W g % Tm 34, 9Rd W =i W afulam R ad

Y A ST R7 < e TR o7 '
(A) gReTe Tgm " (a) 1972
(B) o ToE (B) 1980
(C) o Sheame] (C) 1970
(D) Wit et (D) 1975
P/G/1/2016/1-A 10
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29.

30.

31.

Pasteurization is related to
(A) sterilization of milk
(B) dehydration of milk
(C) fermentation of milk

(D) distillation of milk

Ozone hole is caused by
(A} acetylene

[B‘) ethylene

{C) chloroflucrocarbons

(D) methane

Who among the following
environmentalists is known by the
name of ‘Jal Purush’™

(A) Sunderlal Bahuguna '
(B) Rajendra Choudhary
(C) B. Venkateswarlu

(D} Salim Al

) P/G/1/2016/1-A

32.

. 33.

34,

Who is the protagonist of Chipko
Movement?

(A} Medha Patkar
(B) M. S. Swaminathan
(C) Sunderlal Bahuguna

(D) Chandi Prasad Bhatt

Which of the following institutions
is not related with environment?

(A) Centre for Science and

Environment
(B) Botanical Survey of India
(C} Indian Wildlife Institulte

(D) Survey of India

In which year was the Wildlife
Protection Act enforced in India?

(A) 1972
(B) 1980
(C) 1970

(D) 1975

[P.T.O.
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35. ffaftaa & @ fom o9 4 af 2011 H¥ 38. T 2015 ¥ G-20 TR uoiew +&f

AT B G0 HH A O €9 fhgn BT A17
=Y
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(A) foshl-s (A) &
(B) SR (B) fsem
(C) TraeRr{l-hT

(C) ¥
(D) 9¥-a .

(D) TR

37. AU WRA 91 ¥ ENH, BEFH H
T Wi YeRtert fefafea # & w0 40. T fFer 3T & aE® &

S T oY

(A) < fere (&) g e

(B) e s e (B) o Fo HarH
(C) wHER (C) 3o o AT
(D) FFF HHR (D) T S
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35. Which one of the following States 38. Where was the G-20 Summit held
recorded the lowest population in November 20157
density in Census 20117

@ M (A) Paris, France
1Zzoram

(B) Arunachal Pradesh (B} Antalya, Turkey
(C) Sikkim (C) Vienna, Austria

(D) Nagaland (D} London, England

36. By which department was the

‘e-Sahyog’ Project launched in 39. Which one of the following
October 20157 countries is not a member of G-8?
(A) Sales Tax (A) Russia
B
(B) Income Tax (B) Britain
(C) Excise Duty
(C) Spain
(D) Road Tax
(D) Canada
37. During his visit to India,
Mark Zuckerberg, the founder of
Facebook, had gone to visit which 40. The author of The Killer Instinct is

of the following?
(A) Sulakshan Mohan
(A) Red Fort

B) M. K. Santhanam
(B} Gateway of India B)

(C) Taj Mahal (C} O. P. Sabharwal
(D) Qutb Minar (D) Subhash Jain
P/G/1/2016/1-A | 13 - [P.T.O.
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42.

43,

6 g 27
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45.
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(A) Sfo TH WARR wifeEn
(B) <o e 3o TR
(C) W& g ¢ ved

(D) Sfo TSR TR

46. P den R i Fe T wE I
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(B) 3 g&e #1% 3 (o do 3Ro)
(C) F=1g S AR (Hio o amgo)
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41, Which of the following is a 44. Shooting World Cup, 2017 will be

submarine of Indian Navy? held in

(A) INS Viraat (A) Japan
(B) INS Sindhurakshak (B) China
(C) INS Rajali (C) India

(D) INS Vikrant (D) Sri Lanka

' 45. ‘National Unity Day’ is observed in
42. Which of the following is not one of India in the memory of which

the BRICS countries? national leader on his birthday?

(A) Brazil | (A) Dr. Ram Manohar Lohia
(B} Russia (B) Dr. B. R. Ambedkar
(C) South Africa (C) Sardar Vallabhbhai Patel
(D) Canada | (D) Dr. Rajendra Prasad

46. Which institution has been called

43. Who was appointed as an Executive as ‘caged parrot’?

Director of the International

Monetary Fund in November 2015? . o
(A) Central Vigilance Commission

cvC
(A) Subir Gokarn cvel

(B) Press Trust of India (PTI)
(B) Jayant Sinha

(C) Central Bureau of Investigation

(C} Raghuram Rajan (CBI)
(D) 'Y. V. Reddy (D) Border Security Force (BSF)
P/G/1/2016/1-A 15 [P.T.O.
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47. WeF Yo @Y Iaw frm & o g8 oft

48,

49,

50.

(A) 1958
(B) 1961 H
(C) 1963 &

(D) 1970 F

Tere Mt W awlr dWR TRE
Hfefam &= i gan or?

(A) 2004
(B) 2005
(C) 2007

(D) 2010

e THIE THINH U1 Hal (2 27
() TR

(B) g

(C) i

(D) Tl

2011 % FIUFET F FTEAR AL W
S §

A) 728

(B) 62 HIg

(C) 65 Hs

(D) 75 Hg

P/G/1/2016/1-A
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51. 2011 & SFNAT & ’IAR AL U

TR SEE aren f3el 8
(A) SEER

(B) ®FR

(C) K

(D) wiare

52. Wex Yoyl i refogeren R

(A) F wum
(B) St
(C) &M g
(D) 39k ¥ ¥ g T

. 7e W o @i Aifa fee ad =ifte g€

off?

(A) 1995
(B} 1999
(C) 2002

(D) 2004

54. TLEHN T TSH ASHT /% o9 B/8

(A) Tl S GET Heh | Sire
(B) UeR! USH ST

(C) 3 (A) 3R (B)

(D) I § q FE T
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47. Madhya Pradesh Laghu Udyog 51. According to Census 2011, the
Nigam was established in district of maximum population in
Madhya Pradesh is

(A) 1958
A) Jabalpur
B) 1961 W
(B) Sagar
(C) 1963 ) g
(C} Indore
(D) 1970
(D) Bhopal
48. Mahatma Gandhi National Rural
Employment Guarantee Act was 52. The economy of Madhya Pradesh is
passed in
, (A) agriculture dominant
(A) 2004 )
(B) capital dominant
(B) 2005 ) )
' (C) industry dominant
(C) 2007
(D) None of the above
(D) 2010

53. Mineral Policy was declared in
49. Where is Gold Export Promotion Madhya Pradesh in the year
Park situated? '

(A) 1995
(A) Indore

"(B) 1999
(B) Pithampur

(C) 2002
(C) Bina

(D) 2004

(D) Mandideep

54. The objective/objectives of Pradhan
50. The population of Madhya Pradesh, Mantri Gram Sadak Yojana is/are

according to Census 2011, is ] .
(A) connecting villages to main

{A) 72 crores road
(B) 62 crores (B) comstructing concrete road
(C) 6'5 crores (C) Both (A) and (B)
(D) 7-5 crores (D) None of the above
P/G/1/2016/1-A 17 : [P.T,O.
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55. U oW & MEifies feeu @1/% wrw
HE

A) faw =1 avE
(B) itk (1) 1 9=
(C) F= WIS H I

(D) 3w aefi

56. 1024 Rrearse sXer B
(A) 1 ®TETEe
(B) 1 Tirmege
(C) 10 Freiiange

(D} 1024 =

57. THA Wse & 5l 7R, TE | SR
A H I g, Fean §

A)

(B) w4

(C) A&

(D) 3w § | HiE =

58. T 3 frm =9 s W fowfa o
a1?

(A) TR TN
(B) EREREE

(C) T

(D) %M

P/G/1/2016/1-A
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59. fa et % W@ Fe §7

(A) 3 Jmsh
(B) WA M

(C) @i erarit
(D) emieed ferga

60. =Hreget 7 e T A @

61,

(A) TR

(B) PR W
(©) ¥

(D) T e

‘o fore v & weElt e 17
(A) R

(B) @em

(C) @

(D) B

62, T=fiRed o 4 w-91 T 99 9 27

(A) g,
(B) YheH
(C) B

| (D) 39gw § ¥ I3
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55. The cause/causes of backwardness 59. Who 1is the Chief of Wipro
of industries in Madhya Pradesh Company?
is/are

(A) Azim Premji
(A) lack of finance

(B) Ratan Tata
{B) lack of energy

(C) Anil Ambani
(C) lack of raw material

(D) Aditya Birla
(D) All of the above

- 60. What is the virus that spreads in
56. 1024 kilobytes are equal to computer?

(A) 1 megabyte {A) Hardware
(B) 1 gigabyte (B} Computer program
(C) 10 kilobytes - (C) Ant
(D) 1024 bytes ' (D) System software
57. The basic unit of Excel spreadsheet 61. The word ‘Spam’ is related to which
where we enter data is known as subject?
(A) tab (A) Computer
(B) box (B) Arts
(C) cell (C) Music
(D) None of the above ‘ (D) Sports
58. Which web browser was developed 62. Which of the following is a search
by Google? engine?
{(A) Internet Explorer - {A) Baidu
(B) Firefox (B) Packets
(C) Safari (C) Cookies
(D) Chrome (D) -None of the above-
P/G/1/2016/1-A 19 . [P.T.O.
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63. difeameierT ¥ Frefafes & @
HI-a1 Teamga tfEr 37

64.

65.

(a) T
(i3) L=
(C) w=HH

(D) =@

http ST 0 T F O R?

(A) TERSTL AR T
(B) TRUEHR ZHH FrHicT
(C) TG ZEH S

(D) TERE TR Terhia

FgYed SHfd v rggfd sl fem,
1995 it fifofea & @ form aw &
wffR’ % T w1 SuEy TR T }7
(A) ¥ 18

(B) ®TI 19

(C) | 17

(D) 91 16
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66.

67.

68.

FgERE WM U gyl Ssfd
aftem, 1989 < f=fafas o @ frw
a0 ¥ YR & wigar F Hlaug ugyl
1 AT BT Y& 87

(A) 9T 12

(B) W/ 10

(C) T[T 6

(D) U 8

sggiE Wit wd agEfe Sl
(ormm famo)  wifefem, 1989 &
=y = e w9 % fog faw =
$ wifeat g /fFs ww &7

(A) T=T TEHK

(B) %% TR

(C) =t (A) 3R (B)

(D) HE= =A™

g Wid T gyl S
atffm, 1989 & fimfafae ¥ ¥ frm
& AW sHEd gfdEtte 27

(A) ¥R 16

(B) IR 17

(C) uwr 18

(D) |17 19
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63. Which of the following devices is 66. Which of the following Sections

compulsory for videoconferencing? of the Scheduled Castes and
the Scheduled Tribes Act, 1989
(A) Printer provides for application of certain
provisions of the Indian Penal
(B) Scanner Code?
(A) Section 12
(C) Webcam
(B) Section 10
-(D) Mouse

(C) Section 6

(D) Section 8
64. What is the full form of http?

67. Who has/have the power to make
rules for carrying out the purposes
of the Scheduled Castes and the
Scheduled Tribes (Prevention of
Atrocities) Act, 19897

(A) Hypertext Transfer Program
(B) Hypertext Transfer Protocol

(C) Hypertool Transfer Program

(A) The State Government

(D) Hypertool Transfer Protocol
(B) The Central Government

(C) Both (A) and (B)

65. Under which one of the following
Sections of the Scheduled Castes
and the Scheduled Tribes Rules,
1995, constitution of ‘District
Level Vigilance and Monitoring
Committee’ has been provided?

(D) The Supreme Court

68. Under which of the following
Sections of the Scheduled Castes
and the Scheduled Tribes Act, 1989

is anticipatory bail prohibited?
(A) Section 18

(A) Section 16

(B) Section 19
(B) Section 17

(C) Section 17 (C) Section 18

(D} Section 16 . (D) Section 19

P/G/1/2016/1-A 21 [P.T.O.
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69. HeA We¥ H T S A quwre’ FRm 72. ‘gar T T F weEs w6 RY
.% .

(A) ardt
(A) wEred werieH #
(B) Terdfiuen v A ®
(C) Bera Aot | (©) A
(O) g I & (D) e

70. FE-g o wgm St WA F mex 73. Yere R PH-T1 T o 87
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() gaitam
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(A) e e | (A) SETETS TSR
(B) wErRa T ' (B) gerEUS TBR
(C) et Al (C) T TR B
(D) ieerTe TeTieEt (D) Torem <Y iewt
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69. Dhupgarh’, the highest peak of 72. The River ‘Tawa’ is a tributary of
" Madhya Pradesh, is located in

(A) Tapti
(A) Mahadeo Hills

(B) Narmada
(B) Rajpipla Hills

(C) Parvati
(C) Maikal Range

(D) Mahanadi

(D) Kaimur Hills

73. Which waterfall is situated on

70. Which range acts as a water divide Bhedaghat?

between Yamuna and Son?

(A) Dhuandhar

(A) Bhander
(B) Kaimur (B) Dugdhdhara
(D) Mukundwara (D) Chachai
71. Where isl ‘Pachmarhi’, the only 74. In which physiographic division of
hill station of Madhya Pradesh, Madhya Pradesh is Chambal Valley
situated? situated?
(A) Rajpipla Hills ' (A) Baghelkhand Plateau
(B) Mahadeo Hills (B) Bundelkhand Plateau
(C) Maijkal Range (C) Central India Plateau
(D) Gawilgarh Hills (D) Vindhyan Scarp Land
P/G/1/2016/1-A 23 [P.T.O.
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76.
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(D) G
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79.
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81.

82.
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75. Which type, of climate does Madhya 79. In which district of Madhya

Pradesh have? Pradesh are the caves of Udayagiri
situated?
{A) Monsoon type
(A) Raisen'’
(B) Equatorial type
(B) Vidisha
(C) Mediterranean type
(C) Dhar
(D) None of the above
(D) Bhopal

76. Suchitra Sen was a/an
80. Which tourist place is known as

(A) writer ‘pilgrimage of sculpture’?
(B) actress ' (A) Ujjain
(C} journalist {(B) Khajuraho
(D) political leader (C) Orchha
(D) Mandu

77. The capital of the twenty-ninth

State of India is 81. Which tribe worships ‘Lohasur’ as

(A) Hyderabad their deity?
(B) Vishakhapatnam (&) Gond
(C) Panaji (B) Bhil
(D) Silvassa . (C) Korku
(D} Agariya
78. Where is the ‘Fair of Kanha Baba’

organized in Madhya Pradesh? 82. Where is Bharat Bhawan situated?
(A) Hoshangabad (A) Delhi
(B) Sodalpur . {(B) Indore
(C) Barwani (C) Jabalpur
(D) Rewa (D) Bhopal
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(B) =rSam
(C) Taa™

(D) Toamet

frafafag § ¥ SF-w1 © 9 IER &
g 1 ey 27

(A) HHad
(B) o THo 'Q;o
) T

(D) ¥="

R 1 T gl AT 9 2
(A) =TS

(B) ¥ o 3116 e

(C) ¥MMge Hio AMgo Hlo Ao

(D) I e 31T i

P/G/1/2016/1-A

26

86.

87.
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83.

84.

85.

Which district has the highest
percentage of Scheduled Tribes
population in Madhya Pradesh?

(A) Jhabua
(B) Barwani
(C) Ratlam

(D) Chhindwara

Which one of the following is
irrelevant in the context of share
market?

(A) Sensex

(B) BSE

(C) Nifty

(D) SAPS

The largest commercial bank of
India is

(A) NABARD

(B) State Bank of India

(C) ICICI

(D) Union Bank of India

P/G/1/2016/1-A
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87.

88.

Where is the mausoleum of Sher
Shah situated?

(A) Sasaram

(B) Delhi

(C) Kalinjar

(D) Sonargaon

What was the name of Shivaji’s
Guru?

(A) Ramdas

(B) Tukaram

(C) Vaman Pandit

(D) Gaga Bhatt

Where the words ‘We the people ,
of India’ have been used in the
Constitution of India?

(A) Directive Principles

(B) Fundamental Rights

(C) Citizenship

(D) Preamble to the Constitution

[P.T.O.
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89, WA Wivum 1 g Rl =er T 87 92. WNE YR | gaued frg =F =1 84

BemR?
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(D) 37 D) i
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89. Who is known as the custodian of

90.

91.

the Indian Constitution?

(A) The Parliament

(B) The President

{C) The Supreme Court

(D) None of the above

Which kind of Panchayati Raj
system was recommended by the
Balwant Rai Mehta Committee?

(A) Two-tier

(B) Three-tier

(C) Village level

(D) None of the above

4

Scientific socialism is attributed to

(A} Karl Marx

(B) Adam Smith

(C) J. M. Keynes

(D} Thomas Mann

P/G/1/2016/1-A
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. Which

is the first ever State
constituted on linguistic basis?

(A) Rajasthan

(B) Andhra Pradesh

(C) Madhya Pradesh

(D) Karnataka

. Who was Nicolo Conti?

(A) A famous painter

(B) An ltalian traveller who visited
Vijayanagar empire

(C) A Portuguese traveller

(D) A Persian traveller

94. Which ground is called ‘Mecca of

Cricket’?

(A} Lord’s

(B} Eden Gardens

(C) Melbourne Cricket Ground

(D) Green Park
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™Y

(A) 1900, U@
(B) 1908, W&
(C) 1896, T&d

(D} 1920, TZd

96. Fita A T ¥ T ¥ % wafta
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97, Y3« G e ad g i T ofl?
(A) 1942
(B) 1943
(C) 1944

(D) 1945
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(B) i =g
(C) e &

(D) Hto Tgrm

100. "SR e sfuftam, 1993 #t

frg & ‘A Gam Y aRedm & T
37
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95. When was football included in the

96.

97.

Olympic Games?
(A) 1900, Paris

(B) 1908, London
(C) 1896, Athens

(D) 1920, Antwerp

Who of the following was associated
with the Chittagong Armoury Raid?

(A) Surya Sen
(B) Bhagat Singh
(C) Ram Prasad Bismil

(D) Ashfaquilah

In which year was the Wavell Plan
presented?

(A) 1942
(B) 1943
(C) 1944

(D) 1945

P/G/1/2016/1-A
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98. Which

99,

100.

one of the following
statements with respect to the Land
Acquisition Act, 1894 is not true?

(A) It was made by the British
rulers

(B) Its purpose was to help the
process of land reforms in India

(C) It has been replaced by another
Act of India’s Parliament

(D) Its implementation had become
disputed

Who among the following is
associated with ‘NITI Aayog™?

(A) Narendra Modi
(B} Kaushik Basu
(C) Amartya Sen

(D) P. Chidambaram

In which Section of the Human
Rights Protection Act, 1993 is
‘Public Servant’ defined?

(A) Section 2
(B} Section 3
(C) Section 2(H}

(D) Section 2(M)
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